1. First find the occurrence of the disorder
1:23,000 = for every 23,000 people born 1 person will have it. 

2. There are ~1,200 students at HHS

3. To determine the occurrence of your disorder at HHS (divide the HHS population by the disorder occurrence
23,000/1200 = .0522 is how many student would have the disorder

4. To determine how often someone with the disorder would come through HHS doors

(Divide the disorder occurrence by the number of students at HHS)

1200/23,000 = 19.16—Every 19 years a student would come through with the disorder. 

